PART-II
GENERAL APTITUDE TEST

101. Which figure should come in place of question mark (?)

Q|| °
@ |

(b) @
(c) @

(d) None of the above

102. Iff(z) = (8 ~ %) then

1
fz)+f (‘Z') has the value

(a) 16
(b)

(c)
(d 1
103. If the cost of two books and five pens is ¥ 225 and the cost of four pens and three books is
¥ 320, then what is the cost of one pen ?
(@) 7
(b) 6
(c) 4
d 5
104. If X: 11 12 13
Y: 13 12 11
then covariance is
(a -273
(b) O
(8. a3~ 1
(d),,2/3
105. The probability of getting a sum 10 in the throw of two dices is

(a)
(b)
(c)
(d)
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- qEt-11
| g aieror
101. ge=arash f9ed (?) & & WS o1 fox e =nfed .

Q|| »
(a)@

o [©
© @

(d) IWiFd | G T Tl
102. 3 f(z) = (8 —%),Fﬁ

f(z)+f@amm=r%

(a) 16
(b) 0

@rag
(d 1
- 103, 3 < fehermsil o der et 1 qed T 225 § 3 R el qur A Rearat w1 9o € 320 ¥, qf
U et i Hifd 71 ¢ ?
(a) 7
(b) 6
(c) 4
(@ 5
104. AT X: 11 12 13
Y13 12 11
Ot WE-TEROT B
(a -2/3
b 0
(0 -1
@ 273
105. T WGl % 3V W AT 10 fire 3t miesar e

(a)
(b)
(c)

(d)
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106. How many triangles are there in the following figure ?

(a) 8
(b) 9
(c) 12
(d 15

107. Which of the following is most affected, by extreme values of the variable ?
(a) Median
(b) Mode
(c) Arithmetic Mean
(d) None of the above

108. Choose the diagram that illustrates the relationship of Females, Mothers and Post-graduates.

(1) (2) 3 “@

(@) 1
(b) 2
(c) 3
d 4

109. Complete the series :
Sunday, Monday, Wednesday,
Saturday, Wednesday, Monday, _ _
(a) Sunday, Sunday
(b) Sunday, Monday
(¢) Sunday, Wednesday
(d) Sunday, Saturday
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106. Frfafaa fo w e Bt & 2

(a 8
(b) 9
(c) 12
d) 15

107. 71 # | #1991, W % Ivuad o A9 gl § Tt yefad g g 2
(a) e
(b) SETH
(c) WHFRR WY

(d) ST @ HE T

108. 39 3T FI G4 HIT S R, T 3 Sashierl & Gl sl ZRTd & €
1) ) 3) “4)

(a)
(b)
(c)
(d)

HOWN =

109. %@ i Yo7 BT

(d) oaw,; wiFaR
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110.

111.

112.

113.

114.

115.

116.

Which of the following planets takes the longest time for one revolution round the Sun ?

(a) Earth
(b) Saturn
(c) Jupiter
(d) Mars

A drop of water is spherical in shape. This is due to :
(a) Surface tension

(b) Low temperature

(c) Airresistance

(d) Viscosity of water

Which one of the following Indian Banks is not a nationalised bank ?
(a) Corporation Bank

(b) Dena Bank

(c) ICICI Bank

(d) Vijaya Bank

Who among the following invented Lasers ?
(a) Theodore Maiman

(b) Denis Papin

(c) William Morton

(d) Francis Crick

Who is the President of the Council of Scientific and Industrial Research ?
(a) President of India

(b) Vice-President of India

(c) Prime Minister of India

(d) Union Minister of Science and Technology

Which one of the following States is smallest in area ?
(a) U.P.

(b) M.P.

(c) Rajasthan

(d) Uttarakhand

The moons of the Planet Jupiter was discovered by any one of the following scientist :

(a) Newton

(b) Galileo

(c) Kepler

(d) Copericus
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110. F1 8 & i 91 76 4 1 UF 995 AT H T Afeeh THd A € 2
(a) Tl
(b) WM
(c) Fewd

(d) wTeA

111. Wﬁ%ﬁwﬁﬁ%ww%
(a) TSI
(b) HH ATTHH
(c) g SRy
(d) STeT I TFH

112. T 9Rdr a6l | | i 91 ULaHd 5% T8l § ?
(@) HRURTE g6
(b) TAEH
(c) STEIMEME. ok
(d) fasmn g

113. 7= ° 9 fFa ooR &1 affaepr e ?
(a) ToEERATA.
(b) = U=
(c) faferaw ArA
(d) a9 foask

114. “Hifget 3 Aref=ies v el = &1 s s € 2
(a) WRE % Ui
(b) YA & I
(c) qR % TuH T
(d) ghwae it 3 aEd ue st
115. =1 | @ & 91 7Y, &% § 99 BT € 2
(a) I URH
(b) T WRW
(¢) TST=H
(d) @S

116. JeEiid W & TxH1sH B @i e HQ BT T a3 el 2
(a) A :
(b) Trefiferar
(c) H=R
(d) HRHBT
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117.

118.

119.

120.

121.

122.

123.

The energy of winds is

(a) only potential

(b) only kinetic

(c) Electrical -

(d) Potential and kinetic both

The ‘Standard Deviation’ of natural numbers from 1 to 5 is

(a) 2.0
(b) 1414
(c) 1.48
(d) 1.46

7 6
The difference between 3 and 7 of a number is 20, then the number is

(a) 1140
(b) 1120
(c) 1136
(d 1132
The Central Statistical Unit was established in the year
(a) 1947
(b) 1949
(¢) 1951
(d) 1961

A passenger travels from Delhi to Meerut at a speed of 30 km/hr and return with a speed of
60 km/hr. What is his average speed ?

(a) 40
(b) 45
(c) 50
(d) 48

Shoe size of most of the people in India is No.8. Which measure of central value does it
represent ?

(a) Mean
(b) Median
(c) Mode

(d) Fourth decile

Suresh types 150 words in 4 minutes and Mohan types 150 words in 5 minutes, then in how
much time they together type 375 words ?
25
(a) 3 minutes
(b) 3 minutes
50 .
(c) 9 minutes

(a) 5 minutes
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117. gerail ot St el &
(a) haw fefast
(b) A TSt

(c) dFd
(d) feafast &ix st g

118. Wi Gt 1 | 5 b &1 “HAS foaet &
@@ 2.0
(b) 1.414
(c) 1.48
d) 1.46

119. Wa’wé{%wmﬁ%g I =L AT 20 &, af G&1 &

(a) 1140
(b) 1120
(c) 1136
(d) 1132

120. H=1T Wit THTS B TOAT o1 a9 g% off, aE ¥
(a) 1947
(b) 1949
(c) 1951
(d 1961

121. U I feoedt @ 2 30 fordt ufa gue =6t nfq @ S € X 60 fopdt wia gue =t i @ e st
€ | 3T 3T T T § 2
(a) 40
(b) 45
" (c) 50
(d) 48

122. |HERI: 9RA § Sl ST SHR 8 TR 6 &Il & | F8 i Gt b9 UgTa b1 Wierreed et & 2
(a) H&m :
(b) eI
(c) SR
(d) = H |
123. Q1 4 S § 150 VI TRU HaT ¢, S&ih qig 5 e & 150 o=, o Sded 375 9IS Uk Wiy
25T I §U o e 9o ol 2
(a) %?&H?f
(b) 3
50
(©) 3ﬁ=l=|z
(d 5t
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124. Ifx : 3 4 5

y : 15 18 21
then equation of y can be represented as
(@ y=3x+2
(b) y=3x+6
(&) sy¥=x+12
(d y=2x+9

125. Which of the following cannot be obtained by graphical method ?
(a) Arithmetic Mean
(b) Median
(c) Mode
(d) Quartile

126. In a frequency distribution which of the following may have more than one value ?
(a) Arithmetic Mean
(b) Median
(c) ‘Mode
(d) Geometric Mean

127. The value of the polynomial expression :
x2 - 4x +3is zero if x is

(a) Oor2
(b) 3orl
(c)- lor4
(d) —2or2

128. For a distribution Mean is 70, Median is 75 and Coefficient of Skewness is (-) 0.8. The
coefficient of variation is

(a) 85

(b) 26.78
(c) 25.68
(d) 72.50

129. The sum of binomial coefficients in the expansion of (1 + x)" is

(a) 2n
(b) 2"—1
) 27+1
@ c,

130. If|A |=15,]|A,|=8,|A5]=6and |A| 0 A, N A;[=3then |A; U A, U As| will be
(@) 582
(b) less than or equal to 23

(c) greater than 32
(d) greater than 23
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124.

125.

126.

127.

128.

129.

130.

SAL

I #3104 5

y @ 1518 21
ﬁﬁ%yﬂﬂ"ﬂﬂﬂ'ﬂﬁﬁ%‘:
(a) y=3x+2
(b) y=3x+6
(c) y=x+12
d y=2x+9

frg o 9 foprent oM SmTetE A | @ & Wbl ?
(a) HHT HIEA

(b) TEER

(c) SEetsh

(d) wgEw

T agta foawor § e | @ foraeh U @ atfues 7 8 Wehd € 2
(a) HHTHTH

(b) T

(c) TR

(d) TR TR

g W ST 1 — 4x + 3 FIAA YA E, A x &
(a) 0 3TaT 2

(b) 3 3T I

(c) 134

(d) -2 3PET+2

fepelt S 1 TR 70, TSR 75 3 fawHaT i (—) 0.8 &, ot foer T €

(a) 85 -
(b)  26.78
(c) 25.68
(d) 72.50

(1 + x)" % foreae 9 fug Turieet ot AT &
(2 2"

(b) 27-1

© 2°+1

(d "C

n

A IA, | = 15, |A,| =8, |Ay| = 6 FRIA; N A, N A4 =35 & A U AU Ay| BT
@ R
(b) 23 %F TSR AT ITH HA
(c) 32®del
(d) 23Fag
41

Series-D



131.

132.

133.

134.

135.

136.

On a circle of radius 4 units, there are two points P and Q. The maximum length of arc
which separates P and Q is : (where ©t =22/7)

(a) 8m

(b) 4=

(c) 4

(d 2=

The arithmetic mean of some observations is — 4 and harmonic mean is — 9. The geometric
mean will be

(@ -—-13

(b) -6

(c) -18

(d -36

Twenty years ago the ratio between the ages of Hari and Manu was 1 : 4 and at present, it is
1 : 2. What is the age of Hari at present ?

(a) 25 years
(b) 30 years
(c) 35 years
(d) None of the above

What will be the next number in the following sequence ?
9,8;8,8;7,8;6,
(a)

4
(b) 5
() ©
(d 8

Which one is the wrong term in the series ?
8,13, 21, 32,47, 63, 83,

(a) 21
(b)y 13
(c) &3
(d) 47

If the length and breadth of a rectangle are each decreased by 20%, then the percentage
decrease in area of the rectangle will be

(a) 20%
(b) 40%
) 36%

(d) None of these
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131. 4 3oTS o oot g T St fag P 3 Q & 1 3T W bt aiferm T Sl forg P 3IT Q BT el
FAT €, & (S’ W = 22/7)
(a) 8m
(b) 4n
(c) 4
d 2=

132. T TEAA! 1 GHF AT — 4 T &eHD 7 — 9 & | TOTRR T R

(a -13
(b) -6

(c) -18
(d -36

133. v o 0 &R 3l T F A F A 1 : 4 B YR oA S FHA H A€ A 1 : 2 ¥ | A
- HeR @ g At § 2

(@) 2599

(b) 3099

() 3599

(d) - S | Q@ BT TE

134. =1 @l 1 ST 37 T4 B 2
9,8;,8,8;7,8;6,
(a) 4
(b) 5
(© 6
@ 8

135. = Soft | ToTq W BT AR 2
8,13,21,32,47,63,83,
(@ 21
(b) 13
(c) 83
d 47

136. afc TF EA H orErE AR GeR ¥ ¥ U@ F 20% =T A 5@, @ 39 A F aueed °
e, ST gt
(@) 20%
(b)  40%
(c) 36%
(d) SWied § F BT &l
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137.

138.

139.

140.

141.

142.

143.

The smallest number which when reduced by 7, is divisible by 12, 16, 18, 21 is

(a) 1008
(b) 1015
() 1022
@ 1032

Wthh one will replace the questlon mark ?

(a) 40

(b) 46

(c) 96

d 75

In the sequence 462, 420, 380, x, 306 X is
(a) 322

(b) 332

(c) 342

(d) 352

The word which cannot be formed using the letters of the word
‘TRANSPORT” is :

(a) SPORT
(b) STRAP
(c)’ TRUST
(d) START

Which of the following options is not related with presentation of data ?
(a) Editing of data

(b) Statistical tables

(c) Diagram

(d) Graph

The product of two numbers is 120 and the sum of their square is 289. The sum of numbers
will be

(a) 20
(b) 23
@ 169
@ 7

Five girls are sitting on a bench to be photographed. Seema is to the left of Rani and to the
right of Bindu. Mary is to the left of Rani. Reeta is between Rani and Mary. Who is sitting
immediately right to Reeta ?

(a) Bindu

(b) Rani

(¢c) Mary

(d) Seema
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137. 9% St § B e fe 7 geH W 12, 16, 18 T 21 ¥ feerfra &1 9, ©
(a) 1008 :
(b) 1015
(c) 1022
(d) 1032

138, woA faet 1 B wfcreid T ?

(a) 40
(b) 46
) 96
@) 75

139. 3rH 90T 462, 420, 380, x, 306 Ax®
(a) 322
(b) 332
(c) 342
(d) 352

140. 9% v it f g “TRANSPORT’ S aTETl BT AT U el ST T Webel, ¥
(a) SPORT
(b) STRAP
(c) TRUST
(d) START

141. ﬁmﬁ@ﬁqmﬁmmﬁmﬁﬁwﬁaﬁ?ﬁ%?
(a) ARSI T FHIEA
(b) Wi AR
(c) 3@
(d) I

142. < GEATSAT H HEA 120 ¥ TS 3 @it b1 AT 289 ¥, at = Tt S An @
(a) 20
(b) 23
(c) 169
(d) 7

143, e erhEd T A T EE % fe 48 ¥ | < T 3 e oo w g % < R & 1A

rﬁr%wﬁw%|ﬁm,ﬂﬁaﬁrﬁﬁ€6@aﬁ%,a}ﬁmakwmﬁma€méa%?
(@ fog
(b) T
() =
(@
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144.

145.

146.

147.

148.

149.

If the value of mode is 25.5 and the value of median is 16.5, the value of Arithmetic Mean
will be

(a) 135
(b) 9.0
c) 125
d 12

Which of the following is most viscous ?
(a) Alcohol

(b) Water

(c) Honey

(d) Gasoline

Stars of extremely high densities are called
(a) Supernova

(b) Neutron stars

(c¢) Binary stars

(d) Asteroids

Which of the following is the sum of prime numbers lying between 15 and 30 ?
(a) 103

(b) 90

(c) 118

(d) 88

Find out the missing number :
-1,0,1,8,27,7

(a) -24

(b) 44

(c) 60

(d o4

1. A3P means A is the mother of P.

2. AA4P means A is the brother of P.

3. A9P means A is the husband of P.

4. AS5P means A is the daughter of P.

Which of the following means that K is the mother-in-law of M ?
(a) MON3K4J

(b) MINSK3J

(¢) KS5J9M3N

(d) K3J9N4M

150. If the median of the following observations is 26, the value of x is :

10,12,15,17, x + 2, x + 4, 31, 33, 36, 42
(a) 24 '

(b) 23

(c) 31

) 17
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144.

145.

146.

147.

148.

149.

150.

SAL

afs SgeTE 1 A 25.5 T HifAhT 1 7 16.5 8, A FHIR A1 7 &
(a) 13.5

(b) 9.0

c) 12.5

d 12

= § 9 9 91 gad s @ ?
(a) Aohieed

(b) Tl

(c) ¥

(d) T

STty gecdl dlel A&7l 1 hed &
(a) GO

(b) gHEHE

(c) T =

(d) uRESE

e & @ P 15 @ 30 % arg | 37 aTell 39T T3 Sl JHThe § ?
(a) 103
(b) 90
(c) 118
(d) 88

-1,0,1,8,27,2

(a) 24

(b) 44

(c) 60

(d) 64

1. APHAIEFA,PHIATE |
2. APH IATTHEAPH LR |
3. APH I ETH A PHUE |
4, ASPHSIEHA PR GAHET |
fTaddfram s e fF K, MBI e ?
(a) MON3K4J

(b) MIN5K3]J

(c) KSJ9M3N
(d) K3J9N4M

e T 3ifehel ! HIRAH 26 & x HI A ©
10,12, 15,17, x+2,x + 4, 31, 33, 36, 42

(a) 24

(b) 23

c) 31

@ 17
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